| Efficiency vs Dxy |
0.2
<

5 S
B S A
< A T T
@.16:—----§------€ ------- R St S ALY UL AR
> R S A S A S A S S
KT e S A A S S S S S
© oo : : : : : : : :
0.12 -ttt

S N U S S N
O S 1 NS SR S S
008
008

.7 R 0 ot o s
000

1

N
| PR :ﬁlﬁ R TR feeeens Beeeees

_2B20-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

Ratio

............................

—=— DQM_mKFIt_TTbase
— —e— DQM_mKFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
| Efficiency vs Dz | —— DOM_mkFit_TT_baseline_6iter

0.2 —+— DQM_mkFit6_TT_retrainOldFiles125_v2_prelimWP_epoch4
N U. ; T X T
> : : :

L T
N ; : : ; :
GG
[&] - . y . N N N
.14 R P rorneree AR
o : : : : :
e e
1 T e —

004l g
e il
R R L §

o

86020 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


